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QUIZ

1.	� To be efficient and profitable, 
companies need ...

	 a) cloud computing.
	 b) business applications.
	 c) data centers.

2.	� The video suggests that 
traditional data centers are ...

	 a) insecure.
	 b) hot.
	 c) too large. 

3.	 With cloud computing, your data center is ...
	 a) dedicated.
	 b) virtual.
	 c) shared.

4.	� Which of these is not said about Gmail in comparison to Microsoft 
Exchange?

	 a) It reaches more businesses.
	 b) It is cheaper.
	 c) A large technical support staff is not required.

5.	� It is an advantage for businesses that the cost of cloud 
computing is ...

	 a) constantly falling. 
	 b) minimal.
	 c) predictable.

Answers : 1. b - 2. b - 3. c - 4. a - 5. c.
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